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y=1-e—xl+e—x=1-1exl+1lex=ex—1ex+1dydx=(ex+1)(ex)—(ex—1)(
ex)(ex+1)2=2ex(ex+1)2dydx|x=0=2(1)(1+1)2=12
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y=x+1x-1dydx=(x-1)(1)—-(x+1)(1)(x—1)2=—-2(x—1)2
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y=x+1x-1-x+1=y(x—1)-x(1-y)=—y—1x=y+1y—1dxdy=-2(y—1)2
dxdy=1dydx & ol (38)

dxdy=—-2(y—1)2==-2(x+1x-1-1)2=-2(2x-1)2=-24(x-1)2=(x—1)2-
2=1dydx
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f(x)=Inxx2f (x)=x2(1x)—(Inx)(2x)x4=1-21nxx3f"(x)=x3(—2x)—(1 —-2Inx
)(3x2)x6=—-5x2+6x2Inxx6=—-5+06lnxx4

. X4 (X)+4x3F () +2x2f(X)+1 1)lxioll dosd 221 (40)

X417 (x)+4x3f (x)+2x2f(x)+1=x4 X —5+6Inxx4+4x3 X 1 -2Inxx3+2x2 XIn
xx2+1=-5+6Inx+4-8lnx+2Inx+1=0
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